v 7 Dialogue: “Are your brothers home?”
BoceM T “ OK Grammar: 2™ conjugation: Present Tense
< ) / - When combining stem + ending
£ results in truncation
Less een - Verb classes: -u+, -e+, Xa-)Ka~+
- 2™ conjugation and stress
N Expressions with languages
JInanor
TBou 6paTtbs aoma? Are your brothers (at) home?
Kara: 1 | TBow 6pates noma? YUto onn nénarot? Are your brothers (at) home? What are they
doing?
JIéns: 2 | I¥iMa cMOTPHT TeJIeBH30p, a HuknTa 1 erod Dima is watching TV, and Nikita and his
3 | moapyra Baps cTosiT Ha 0aIKOHE H KYPST. girlfiiend Varya ave standing on the balcony and
smoking.
Kara: 4 | A TBI UTO NéNaetIh? And what are you doing?
JIénst: 5 | A7 Hwuuerd ocoGennoro. A y4y KuTiiickue Me? Nothing special. I'm studying Chinese
6 |cjoBA. B mikdge Mbl yUuM KHUTAHCKHI A3BIK. vocabulary (= words). At school we're
studying Chinese.
Kara: 7 | Te1 yuunie kutabickuii? Huuero ce6é! You re studying Chinese? Wow!
JIénst: 8 | A BBl TOBOpPUTE MO-KUTAICKHU? Do you speak Chinese?
Kars: 9 | HeT, 1 9yTb-4yTh TOBOPIO MO-(PPAHITY3CKH U No, 1 speak a little bit of French and I know
10 | HEIUIOXO 3HAI0 HCITAHCKHH. Spanish fairly well.
CaoBapsb
X
2 | cMOTpe+ watch
2 | TeneBH30OpP v
2 | mompyra girlfriend
3 | cros+ stand
3 | GagkOH balcony
3 Kypﬁ+ smoke
3 ytlﬁ+ study; learn (We saw: On yunrcs B [IpiiHcToHe He studies at Princeton)
3 | kuTalcKui Chinese (adj)
6 |cnoso (Plural ciosd) word
6 |mKoma school
6 | S3BIK’ language; tongue (We saw the Phrase: kypc pycckoro s3bika Russian (language)
course.)
8 | roBopH+ speak; talk (We saw: O uéMm TbI ToBOpHIIL? What are you talking about?)
9 | 9yTh-UyTh a little bit; just a bit
9 | bpanIy3CcKHit French (adj.) (See grammar explanation concerning the form mo-gpaniy3cku.)
10 | 3HAH+ know
10 | HCHAHCKHH Spanish (adj)
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18- ypok FpammaTuka

18.A Present Tense 2 "-Conjugation (Gui_tar) Verbs

18.A.1 When combining stem + ending results in truncation of final letter of stem

Before we look at the Present Tense endings for the 2"*-conjugation (Guitar) verbs (the last two lessons covered
just 1*-conjugation Up-to-Snuff verbs), let’s look a little more at how endings are added to stems. Thus far (with
all nouns, adjectives, and 1*-conjugation verbs) we have seen “basic addition”: everywhere we have simply added
the endings — all of which have begun with a vowel — to the stems — all of which, so far, have ended with a
consonant. In other words, the combination C + V is a ‘harmonious’ one:

This could be the beginning of
a beautiful relationship.

C+V = harmony: Haw + -{A} 2> Hawa

nnox” + -{O}e - nnoxde
xumB+" + -{U} > xuBy
aénan+ + -*{O}1 2> nénaet

nao+ -{Om > ngém

But what happens if the stem ends in a vowel, i.e. (V + V)? Here you get TRUNCATION, where the stem vowel
is replaced, kicked out, 86ed, tossed by the vowel in the ending.

...and stay out!

¥ +V > chaos: nexg+ + -{U} > nexy
cMoTpg+ + {l}T > cméTput
yuaf+ + -{A}T > yuar

Why are we bringing this up here? Because all the stems of the 2™ conjugation (Guitar) verbs end in a vowel. So,
when these stems combine with endings beginning with a vowel, ¥ + V truncation will occur throughout the
Present Tense.

18.A.2 2"-Conjugation (Guitar) Endings

Recall that we dubbed the 1*-conjugation endings Up-to-Snuff because the vowels found in the endings follow
the pattern {U} (uny) {O} (unéns, unér, uaém, unére) {U} (uayt). To help you remember the vowel sequence
for the 2"%-conjugation, we suggest you think of Guitar, because, as you might expect, the pattern is {U}-{I}-{A}.

Present Tense endings, 2" conjugation

SINGULAR PLURAL
1* (51) -{U} 1** (MB1) -{im
2" (tBI) -{l}mn 2" (BBI) -{l}Te
3 (on/ona/ond) | -{Bt 3" (onn) -{A}T

Note that the endings are quite similar to 1* conjugation — only the vowels are different (but not in the s form).
|
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Grammar

Lesson 18

18.A.3

2nd conjugation (Guitar) verb classes: -u+, -e+, -/Ka-7Ka+

There are only three types of 2™'-conjugation (Guitar) verbs (based on the final letter(s) of the stem):

1) -u+ e.g., Kypn-+(i.e., the final letter of the stem is u)

2) -e+, e.g., eMoTpe+ (i.e., the final letter of the stem is e)

3) Ka+ (where ‘%K’ stands for any of the permanently hard or soft consonants “k, 1, 4, 1, ii’'), e.g., JexKa+,
CABIA+ [isten, Kpu4a+ shout, muma+ squeal, crosi+ (remember: i{A} is spelled s1). We’ll refer to this group
as ‘¥Ka-?Ka+ verbs’. Every other verb class besides -u+, -e+, ’Ka-2Ka+ is 1¥-conjugation.

We have already seen the following 2"*-conjugation (Guitar) verbs:

-u+ verbs

-e+ verbs

-Ka-Ka+ verbs

I(ypI>/<I+ smoke
FO]iOpI/'H talk; speak
yuu+ study; learn

X
cMoTpe+ look
BUIIE+ see
CUAE+ sit; be in a sitting position

nexa+ lie; be in a lying position
CTOS+ stand; be in a standing position

I still don’t see how you can determine the stem. The forms you’ve listed
above don’t appear in any dictionary, what with the crazy ‘+’ and the like.

Just trust us. Yes, the form emotpé-+ is not found in a dictionary, but it is OUR
form, from which you’ll be able to predict every other form of the that verb. A
little later on we’ll talk about dictionary forms and why they are inferior.

Present Tense, 2" Conjugation (Guitar) Verbs
(Note truncation due to the ¥+V combination)

PERSON/ NUMBER STEM ENDING WORD
CMOTpE + cmorpV
1 Sg A JEH + - { U } ne>¥<y
YA+ yuy
CMOTpE + CMOTpHIITb
2 Sg ThI JEH + - { | } b JIC KU
VUK + VUHIITH
OH/OHA/ CMOTpg + CM(')T’pI/IT
3sg oHob TEIKA + {|}T JIEKAT
VUM + YUUT
CMOTpE + CMOTPHM
1pl MBI e + -{l}m MERAM
VUK + YIHM
CMOTpE + CMOTpPHTE
2pl BbI e + -{l}Te NeXKATe
VUK + YUIHTE
) CMOTpZ + CMOTPAT
3pl OHU exE + -{A}T TEKAT
VI + yaar

' There is onlz 1 verb in -ma+, but it’s obscene.
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&= | IMPORTANT NOTE ABOUT 2" CONJUGATION: Remember that the omii-form ending
for the 2"*-conjugation (Guitar) is - {A}T: cMOTpST, 1eXKAT, roToBsAT. Do NOT attempt to use
the 1 conjugation - {U}T (as many Russian students tend to do by mistake). A Russian
standing near by is likely to short circuit.

18.A4 Z“d-Conjugation (Guitar) Verbs and Stress

The 1%-conjugation verbs we’ve learned so far (Lessons 16 and 17) all have fixed stress in the Present Tense. 2™
-conjugation verbs can also have fixed stress. Stress can be fixed on any syllable of the verb: Bie+ = always 1%
syllable: BIKY, BHIMIND, ... BHAST, FoBOpH+ = always last syllable: roBopio, roBopimIb, ... TOBOPAT’, etc.

However, some 2"'-conjugation verbs have shifting stress in the Present Tense. Don’t get stressed: the shifting
pattern is always the same: from the ending in the 1* person singular (s-form) to the stem in all other forms. As
with nouns, we will indicate shifting stress with the symbol * above the end syllable: cMoTpeé+= cMoTpIO,
CMOTPHILD, ... cMOTPAT. On your verb index cards, DON’T FORGET to include stress pattern.

FIXED STRESS SHIFTING STRESS
4 r X
CJIBIIIA+ roBopu+ cMoTpe+
CHBIII Y TOBOp ' 10 CMOTp 10
CJIBII Wb TOBOp | MIIIb CMOTp WHIIb
CHBIII UT rOBOp | UT CMOTp HT
CHBII UM TOBOp MM CMOTp UM
CHBIII WTE TOBOp | UTE CMOTp HTE
CJIBIII aT TOBOD ' SIT CMOTp SIT
@ Listen and repeat:
Example: Kypi ] s Kypro, mol Kypuii, OHA KYpum, Mot KYPUM, 86l KYpume, oHil Kypsm

crofi+ [ s cmoid, mut cmotiws, OHd cmotim, Mbl CIROUM, 861 CHOLMe, OHIL CIOSM

1. rToBopn+ 2. Jexa+ 3. yqﬁ+ 4. xpwaa+ (shout)
5. Kypu+ 6. wmomua+ (be silent) 7. cMoTpe+ 8. Bépu+ (believe)
9. umHM+ (repair) 10. I[ep>1<§+ (hold) 11. noMHE+ (remember) 12. petrii+ (decide)

@ Produce the form that is called for on the recording (Another long, but very important exercise):

Example: cTosi+ Ha GankoHe (MBI, OHH, etc.) [ mor cmoiim na 6ankdue, onil cmosim na 6anxoue.., etc.

1. ToBopH+ MO-pyccKu (s, OHA, MBI, THI, BBI, €T0 MIAIINIA OpaT, ux poxuTenn, AHHa JIbBOBHA)
2. Jexa+ Ha muBAaHE (MBI, BBI, MOS CECTpa, HAIM ETH, 4, Thl, UpuHbl poautenn, Opuii SIkoBneBut)

X y ’ , r ’ r I3
3. yuwu+ cmoBa (s, MummHa cecTpa, MBI, OHH, BHI, Th, COHMHA J104b, Bépa [1aBnoBHa)

Technically, stress in verbs like roBopu+ is still on the stem, since the ‘m’ is still part of the stem. But remember, this
stem vowel gets cut when the verb endings are added. The result is that the stress winds up being on the ending after all:

FOBOBﬁ+ + -i Ui > rosonlb.
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X . , i o i J
CMOTpE+ TeJIeBU30p (51, ThI, MBI, BbI, KaTHH Opat, Mo# c€ctpsl, s, bopric TlerpoBuy)
He OMHU+ (TBI, 5, BAIITK POJINTENH, BBI, MBI, OHH, | aniiHa IBAHOBHA, WX MIAAIIHI Opat)
Kkpuda+ (T, MBI, BHI, 51, JleB Hukomaesny, onn, e€ crapmas cectpa, Hatanmna MuxaitinosHa)

X 4 , r I ’ , ,
Kypir+ (BBI, MBI, 1, Onbra [1aBnoBHa, ond, 161, [18Tp IOpreBUY, eTd poanTenn)

e AN

momrga+ (bOps, MBI, OHH, BEI, ThI, MO OpaT, | pUTIHH CBIH, )

The “Chameleon”: Keep changing the phrase using each newly given word. Sometimes the

subject will change, sometimes the verb). As you will hear on the recording, word order is

flexible in Russian. Your answer is not “wrong” if the order does not match the recording.
Example: Yo ... xénaii+ (Mamra, oHH, 1<ypﬁ+) [ Ymo dénaem Mdwa? = Ymo omi dénarom? = Onii kypsam.

Start with Yro ... péaai+?

1. = 2. BHI 3. Mbl 4. CMOTp3+ 5. oHn
TEIeBU30P

6. TH 7. Bépa 8. uwmraii+ xypHan 9. Mul 10. eé Opar

11. = 12. kypi+ 13. BEI 14. I'éHa 15. MBI

16. TBI 17. ua+" B KUHO 18. oun 19. MBI 20. 51

21. mpit+ BUHO 22. oH 23. MBI 24, moii+” pycckue 25. oun
nécHU

26. 1 27. I'ans 28. ToBOpH+ 29. 1 30. oun

mo-(ppaHIy3CKH

18.b Talking About Languages

Bbl roBopute no-pycckun? (8)
Back in Lesson 7 the poor café worker said: s1 m16xo moHumMaro mo-pyccku / don 't understand Russian well.
With the verbs roBopn+ speak, anTaii+ read, moHMmaii+ understand you need that little mo- (don’t forget to

write the dash; lots of students do), to which you add the name of the language (the adjective minus the final -if):

With roBopu+, yntan+, noHMMamn+: No-Xku

ADJECTIVE ADD I10- & REMOVE -ii | USE WITH IOHUMA i+, YATAl+, TOBOPH+
AHTIIAACKUEN  English MO-aHTIANACKH  in English TOBOPH+ IO-aHTIMHCKH speak English
PYCCKHH Russian IIO-PYCCKH  in Russian YUTAM+ MO-PYCCKU read Russian
dbpaHIy3ckuil  French mo-ppaHys3cku in French ITOHMMALi+ MO-(pPaHITy3CKH understand French
HCTIAHCKUH  Spanish MO-UCTAHCKU  in Spanish TOBOPH+ IO-UCIIAHCKU speak Spanish
KUTAlCKui Chinese MO-KUTANCKH in Chinese YUTAM+ TO-KUTAHCKH read Chinese
HeMénkunii German ho-HeMENKU in German HOHUMAN+ TI0-HEMEIIKU understand German
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For the verbs yum+ study; learn and 3uaii+ know, however, you simply leave the language adjective as is
(including the final ¥) and optionally add the noun 1361k language.

With yun+, 3Han+: Xkuh A3bIK

ADJECTIVE ADD SI3BIK (OPTIONAL) USE WITH Y4l#+, 3HATI+

AHTIUICKUN English | aHTTIAHCKUIA (A3B1K) English (language) yqﬁ+ AHTIIMHCKUH (SA3BIK) study,; learn English

pycckuii Russian pYycckuii (S3BIK) Russian( language) 3HAL+ PYCCKUH (S3bIK) know Russian

{panuysckuit French | dpaHuysckuii (136IK) French (language) | yuik ppaHIy3cKuil (135IK) study; learn French

HCTIAHCKHUH Spanish HUCTAHCKHI (A3BIK) Spanish (language) 3HAH+ UCTIAHCKUH (S3BIK) know Spanish

Y] (v . Y] (v r . X 7 A v] 4 .
KUTANCKuu Chinese KHTAHCKHH (A3BIK) Chinese (language) YU+ KHTARCKUM (A3BIK) study, learn Chinese
HeMEIKHH German HeMEIKUH (A3BIK) German language 3HAH+ HeMENKUH (A3BIK) study, learn German

@ Transform the sentence as in the example:

Example: Jama / xopomo6 ropopu+ / French ] Hawa xopowd osopiim no-@ppanyy3cku.
[1éTs / yum+ / English 0 Léms yuum anemigickuil s13viK.
1. 51/ He nonmmaii+ / Spanish 2. Béamuk /uutait+ /Russian 3. Unna /He roBopu+ / English
4. Twei/ 384+ / Russian? 5. Bw1 /roBopu+ / French? 6. Mol / yan+ / Russian
St JIEBYIIKH / TUIOXO 8. FEr6 gérn/ yun+ / Chinese 9. S /xopomiod rosopu+ / German

nouumaii+ / English
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Lesson 18 - Homework Ums

gj Exercise 1 What are the 3 types of 2™ conjugation (Guitar) verbs? Give an example of each.

g Exercise 2  Fill in this 2"-conjugation (Guitar) verb table just as you did for the 1°

conjugation:
, X , X ,
TOBOpH+ CMOTpe+ CTOSI+ yuu+ JexKA+
A
ThI
Cama
MBI
BbI
OHU
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18-1 ypok JomallHee 3agaHue

,gg Exercise 3  Answer the questions as truthfully as if you wish:

Example: Bb1 rosopiite no-gppannyscuku? [ a, st xopowo 2060pt0 no-hpanyy3cKu.
or: Hem, s ne 2o6opio no-ppanyyscku.
or: A nonumaio no-ppanyyscku, Ho st He 2080pI0.

1. Bam Opar (#iiu Bamia cectpa) rOBOPUT HO-UCTTAHCKH?

2. Kake a3p1xu BeI yurinn B mikone? (Keep the verb in the Past: Masculine Ending -1 / Feminine -1a)

3. Bamm pojyTenu YNTAIOT MO-aHTIANCKHA?

4. Besl roBopuTE MTO-pyccKu?

2< Exercise 4 Putin a verb that makes sense:

1. Yro THI ?7 4 Ky PHAIL.

2. Minia Ha OaJIKOHE U

3. Mmu pycckue CoBa.

4. Jléns MABO U pyccKue TECHU.
5. O#H, rojosa , VIIIH !

18-9



